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Series Circuit Practice

=IR P=VI
=T ¢ Voug = TRLZSY 2\ -6
. v i Ina=,c8 I¥
What is the total voltage? _ v <h LIy
Wit it hedotal resigtmed? & A SR a2 Yz G2 Ppg=6-7 %

12-6TC

Calculate the total current. s ngpr

Where in the circuit is the current the greatest?
Some Throughout
If one of the batteries is removed, how would the

current change? [ess V weens less T 6V __=3EY
If one of the resistors is decreased, how would the Vaup= 78 ( JE}
current change? |« 5% [ m1eons paora 1. Lisq 285
Piuza=3 2¢(7%)
6V =Y w
On the circuit, calculate the voltage and power o 7833 e
used by each resistor. ; 1EBV
How much voltage is used by the 12 Q resistor? 286V
—§.28v _ L)
‘What is the voltage at point D? 12—EHe= 5 IVnra - f:; o
6= -
, w _ — g’
How much power is used by the whole circuit? Pig= VI - he “—i UP
p=vL =12 (78) =336\ =1
Parallel Circuit I.ab—Calculations 1
What is the total voltage? ¢/ Uj; E('f;:
How does the voltage change across a wire? A0E5 ‘L
What is the voltage at E? 1%/
What is the voltage at F? |5V b A g 1% ;/f’,]fﬁs \% 3V
What is the voltage at H? &V — D) ) 7
4 L
ﬁﬁ\f . A7 - ©
A. Which resistor has the greatest vo}fl}zlge across it? Some-
: ? 3 1 . W& Semy i 3 1%
B. Why? objects jh gar w;f?afﬁ e 28 | ol = 3 /?
Which resistor has the greatest current? >.0¢ ® v J gsg 6 ﬂ%Q . %99
Calculate the current in each branch, ERY ‘l/ KL
Label each current with an arrow.
oV A A zh
Whiat is the urrent from Dto 1?9 "5 A= @ Se——— @ s @
What is the current flowing from Ito A? 1| fr o A O

What is the total current? ] £
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Using the total voltage and total current, calculate the total resistance. . J;.‘y o _lljlﬂ = |, 6312
&

Since P = VL, calculate the power used by the 9 €2 resistor,
P= \«g(?,)..:, Zh

Calculate the total power used by the circuit. el 1 "3{ IIB = [ e
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